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Section : NTPC

Q1  Argon is a commonly used gas to fill incandescent light bulbs because argon is

Ans X 1 reactive

X 2 lightest

Chosen Option :

X 3 abundant

o 4. inert
Question ID : 94891110313
Option 1 1D : 94891141251
Option 2 ID : 94891141250
Option 3 ID : 94891141252
Option 4 ID : 94891141249

Status : Marked For Review
Chosen Option : 4
Q2 Formaldehyde is used in which of the following options?
Ans  of 1 Perfumes

X 2 Air conditioners

X 3. Fire extinguishers

X 4 Refrigerators
Question ID : 94891110316
Option 1 ID : 94891141262
Option 2 ID : 94891141263
Option 3 ID : 94891141264
Option 4 ID : 94891141261

Status : Marked For Review

1




Q.3 The length, breadth and height of a room are in the ratio 4 : 3 : 2. If the length and height are halved while the breadth is

doubled, then the new area of the four walls of the room will:
Ans

< - decrease approximately by 26%
o 2. decrease approximately by 42.86%

/< 3. decrease approximately by 13.64%

/< 4. remain the same

Question ID : 94891110172
Option 1 ID : 94891140687
Option 2 ID : 94891140688
Option 3 ID : 94891140686
Option 4 ID : 94891140685
Status : Answered
Chosen Option : 2
Q.4 Ondividing 12401 by a certain number, we get 76 as quotient and 13 as remainder. What is the divisor?
Ans X' 1. 136
X 2.947
W 3 163
X 4. 048
Question ID : 94891110144
Option 1 ID : 94891140573
Option 2 ID : 94891140576
Option 3 ID : 94891140574
Option 4 ID : 94891140575
Status : Answered
Chosen Option : 3
Q.5 Three circles of radius 3.5 em are placed such a way that each circle touches the other two. The area of the portion
enclosed by the circles is ( take V3 = 1.732):
Ans -
X 1. 1.652 cm?
v 2. 1.967 cm?
X 3. 2,56 cm?
X 4. 1.856 cm?
Question ID : 94891110167
Option 1 ID : 94891140668
Option 2 ID : 94891140666
Option 3 ID : 94891140667
Option 4 ID : 94891140665
Status : Marked For Review

Chosen Option :

2




Q.6 The inside measurements of a tank shows its 25 m long. 12 m wide and 6 m deep. The cost of plastering its walls and

bottom from inside at the rate of 75 paise per m= is:

Ans X 1. 2496
W 2 3558
X 3.7458
K4 3512
Question ID : 94891110165
Option 1 ID : 94891140659
Option 2 ID : 94891140657
Option 3 ID : 94891140660
Option 4 ID : 94891140658
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.7 85L of a mixture contains milk and water in the ratio 27 : 7. How much more water should be added to get a new

mixture confaining milk and water in the ratio 3 : 17

Ans  of 1. SL
X 2 8L
X 3 150
X 4 13L
Question ID : 94891110158
Option 1 1D : 94891140631
Option 2 ID : 94891140629
Option 3 ID : 94891140630
Option 4 ID : 94891140632
Status : Answered
Chosen Option : 1
@8 The Institute of Forest Biodiversity (IFB) is situated in
Ans X 1. Rajasthan
2 2. Jammu
/& 3 Kerala
« 4 Hyderabad
Question ID : 94891110322
Option 1 ID : 94891141286
Option 2 ID : 94891141288
Option 3 ID : 94891141287
Option 4 ID : 94891141285
Status : Marked For Review

Chosen Option : 1




Q9 Select the option that can replace the question mark (?) in the following series.

3A2. 8G7, 18MI14, 33523, 53Y34. 7
Ans X 1. 72F47
X 2. 78E57
v 3. 78E47
X 4. 78D43

Question ID : 94891110787
Option 1 ID : 94891143147
Option 2 ID : 94891143148
Option 3 ID : 94891143146
Option 4 ID : 94891143145
Status : Answered
Chosen Option : 3

Q.10 introduced the famous Persian festival of “Nauroz’.

Ans X 1. Shamsuddin Kayumars
« 2. Ghivasuddin Balban

X 3 Nasiruddin Mahmud
/< 4 Bughra Khan

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

94891110320
94891141278
94891141277
94891141280
94891141279

Marked For Review

3

Q1

Ans

A alone can complete a task in 12 days and B alone can complete it in 10 days. Starting with A they work on alternate

days. The task will be completed in days.

5
1. i
> 1(}6

X212
ERT

3
4. 11—
X 114

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :

Status :

94891110161
94891140644
94891140642
94891140643
94891140641
Answered

Chosen Option : 3




Q.12 A dairy man purchases at 26.40 per litre of milk. He adds water and sells the mixture at 38 per litre, thereby making

37.5% profit. The ratio of water to milk received by his customer is:

Ans  of 1.1:10
X21:9
X3 2:11
Xal:11

Question ID :
Option 11D :
Option 2 ID :
Option 3D :

Option 4 ID

Status :
Chosen Option :

94891110160
94891140639
94891140638
94891140640

1 94891140637
Marked For Review

1

Q13 Which organisation is termed as *a Child of War*?
Ans X 1. UNESCO

X 2. UNO

X 3. UNICEF

« 4 League of Nations

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

94891110333
94891141332
94891141329
94891141331
94891141330

Marked For Review

3

Q.14

Ans X 1. The chairman was Sir John Simon.

o 2. All members of the commission were British.

What was the main reason for boycotting Simon Commission?

/< 3. All the members of the commission were inexperienced.

5 4

Lala Lajpat Rai was critically injured in a lathi charge related to the commission.

Question ID
Option 2 ID
Option 4 ID

Status :
Chosen Option :

: 94891110319
Option 11D :

94891141273

1 94891141274
Option 31D :

94891141275

: 94891141276

Answered
2




Q.15
Iftan & = % then the value of 2@ cot8 +1 is:

Ans

X 1 243 -1
2
Xz.m

v3i+ 1
35«4’?—1
ey
45«J§+‘1
‘,'«E+1

x

Chosen Option :

Question ID : 94891110171
Option 1 ID : 94891140684
Option 2 ID : 94891140682
Option 3 ID : 94891140683
Option 4 ID : 94891140681
Status : Answered
Chosen Option : 4
Q.16 A man takes 5 h 45 min for walking to a certain place and riding back. He would have gained 2 h by riding both the
ways. The time he will take to walk both the ways is:
Ans  of 1. 7 h 45 min
#< 2 11 h 30 min
& 3 11 h 45 min
/4 7 h 30 min
Question ID : 94891110163
Option 1 ID : 94891140649
Option 2 ID : 94891140650
Option 3 ID : 94891140652
Option 4 ID : 94891140651
Status : Answered
Chosen Option : 1
Q.17 In 2019, Pune-based scientist bagged the second prize of €25,000 in an international competition named
‘Elsevier Foundation-ISC3 Green and Sustainable Chemistry Challenge’, which is a German Chemistry prize.
Ans X 1. Tapan Mishra
/< 2. Amar Gupta
< 3. Meghnad Saha
' 4 Ankur Patwardhan
Question ID : 94891110307
Option 1 ID : 94891141228
Option 2 ID : 94891141227
Option 3 ID : 94891141226
Option 4 ID : 94891141225
Status : Marked For Review

1




Q.18 Inwhich of the following plant groups does the seeds develop inside an ovary which then ripens to become a fmit?

Ans

/< 1. Thallophvta
/< 2. Pteridophyta
« 3. Angiosperms
/< 4. Gymnosperms

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110314
94891141254
94891141256
94891141253
94891141255
Marked For Review
4

Q19 1n which year the first electric train of India was introduced?

Ans

W 11925
X 2. 1950
X 3. 1940
X 41920

Question ID :

Option 1 ID

Option 3 ID

Status

94891110340

: 94891141358
Option 2 ID :

94891141360

: 94891141359
Option 4 ID :

94891141357

: Marked For Review
Chosen Option :

1

Q20 Which of the following launched the RISAT (Radar Imaging Satellite)?

Ans

X 1. PSLV-C37
X 2. PSLV-C43
X 3. PSLV-C46
4. PSLV-C48

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110330
94891141317
94891141318
94891141319
94891141320
Marked For Review
2




Q.21

Ans

In an examination, 80% of the students passed in English. 85% passed in mathematics and 75% passed in both, English

and mathematics. If 40 students failed in both the subjects, the total number of students is:

X 1. 158
X2 44

W 3400
< 4. 100
Question ID : 94891110154
Option 1 ID : 94891140616
Option 2 ID : 94891140614
Option 3 ID : 94891140613
Option 4 ID : 94891140615
Status : Marked For Review
Chosen Option : 3
Q.22 A man standing at point P is watching the top of a tower S, which makes an angle of elevation of 30 ® with the man's
eye. The man walks a distance of 20 m towards the tower to watch its top and the angle of the elevation becomes 45°.
What is the distance between the base of the tower and the point P (take /3 = 1.732)?
Ans X 1.27.32m
V2 4732m
X3 227m
X 4 14.64m
Question ID : 94891110173
Option 1 ID : 94891140690
Option 2 ID : 94891140689
Option 3 ID : 94891140691
Option 4 ID : 94891140692
Status : Answered
Chosen Option : 1
Q23 Select the number that will come next in the following series.
541,629,552, 618, 7
Ans X 1. 591
v 2 563
< 3. 553
X 4. 673
Question ID : 94891110776
Option 1 ID : 94891143102
Option 2 ID : 94891143104
Option 3 ID : 94891143101
Option 4 ID : 94891143103
Status : Answered

Chosen Option : 2




Q.24

Ans

Read the given statements and conclusions carefully and decide which of the conclusions

logically follow(s) from the statements.
Statements:

a. Some photos are colour.
b. Some photos are black and white.

c. No colour is black and white.
Conclusions:

i.  Some colour are black and white.
ii. Some black and white are colour.

iii.  No black and white is colour.

75 1. Only (ii) follows.

o 2. Only (iii) follows.

7< 3. Both (i) and (ii) follow.
75 4. Only (i) follows.

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110786
94891143142
94891143144
94891143143
94891143141
Answered

2

Q25 Noney bill can be introduced

Ans

< 1. by neither Lok Sabha nor Rajva Sabha

« 2 only in Lok Sabha
#< 3. only in Rajya Sabha

/< 4. by either house of Parliament

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

94891110329
94891141316
94891141313
94891141314
94891141315
Answered

2




Q26 Cyprently, which state has the maximum number of Lok Sabha seats?

Ans X 1. Maharashtra
o 2. Uttar Pradesh
< 3. Gujarat
#< 4. Rajasthan
Question ID : 94891110306
Option 1 ID : 94891141221
Option 2 ID : 94891141224
Option 3 ID : 94891141223
Option 4 ID : 94891141222
Status : Answered
Chosen Option : 2
Q.27 The introductory page of a website, typically serving as a table of contents for the site is known as the
Ans 3 1. Title Page
/< 2. Desk Page
/< 3. Tool Page
+ 4 Home Page
Question ID : 94891110337
Option 1 ID : 94891141345
Option 2 ID : 94891141347
Option 3 ID : 94891141346
Option 4 ID : 94891141348
Status : Marked For Review
Chosen Option : 3
Q.28 Tari’s income is 20% more than Madhu’s income. Madhu’s income is less than Hari’s income by:
Ans X 1.22%
X 2. 20%
2
3 16-%
3
X 4 15%
Question ID : 94891110156
Option 1 ID : 94891140624
Option 2 ID : 94891140623
Option 3 ID : 94891140622
Option 4 ID : 94891140621
Status : Answered
Chosen Option : 3




Q.29 The angle of elevation of a ladder leaning against a wall is 60 and the foot of the ladder is 15 m away from the wall.

The length of the ladder is:
Ans
K1 15v3m
v 2 30m
K3 75m
X4 15m
Question ID : 94891110170
Option 1 ID : 94891140680
Option 2 ID : 94891140677
Option 3 ID : 94891140678
Option 4 ID : 94891140679
Status : Answered
Chosen Option : 1
Q.30 Select the option that is related to the third term in the same way as the second term is related to the first term.
Wind : Flute :: String : ?
Ans X 1. Piano
< 2 Tabla
& 3. Drums
v 4. Guitar
Question ID : 94891110775
Option 1 ID : 94891143098
Option 2 ID : 94891143097
Option 3 ID : 94891143099
Option 4 ID : 94891143100
Status : Marked For Review

Chosen Option :

1

Q.31

Ans o 1. Nitrogen
& 2. Carbon
7< 3. Hydrogen
< 4. Oxygen

Which of the following nutrients is provided to plants from soil?

Question ID :
Option 1 ID
Option 21D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110312

: 94891141246

94891141245
94891141247
94891141248

Marked For Review

4




Q.32 Select the option that can replace the question mark (?) in the following series.

D2Z.F7X, C22V, E6TT, ?
Ans X 1. C202S

v 2. B202R

X 3. BI102R

X 4 A202Q

Question ID : 94891110788
Option 1 ID : 94891143151
Option 2 ID : 94891143152
Option 3 ID : 94891143150
Option 4 ID : 94891143149
Status : Answered
Chosen Option : 2

Q.33 satish takes a car on rent at 2:00 p.m. and drives it at the speed of 75 km/h towards a Resort Palm Beach, 800
km away from his house. He calls his neighbor Raman at 3:00 p.m. to join him at the resort. Raman
immediately sets off in another car using the same route as Satish, at the speed of 90 law'h, towards the resort.
‘When will Raman catch up with Satish?

Ans X 1. 7 p.m.
75 2. 8:30 p.m.
/< 3 9pm.
o 4 8pm.

Question ID : 94891110162
Option 1 ID : 94891140645
Option 2 ID : 94891140647
Option 3 ID : 94891140648
Option 4 ID : 94891140646
Status : Marked For Review
Chosen Option : 2

Q.34 Consider the given statement and decide which of the given assumptions is/are implicit in the statement.
Statement:
“If you solve this puzzle, I will buy you the moon,” Radha said to Mowgli.
Assumptions:
A: Mowgli wants to buy the moon.

B: Moweli won’t be able to solve the puzzle,

Ans X 1. Either A or B is implicit.
/< 2. Both A and B are implicit.
75 3. Only assumption A is implicit.
o 4 Only assumption B is implicit.

Question ID : 94891110782
Option 1 ID : 94891143128
Option 2 ID : 94891143127
Option 3 ID : 94891143125
Option 4 ID : 94891143126
Status : Marked For Review
Chosen Option : 3




@35 Which two land masses does the Palk Strait separate?

Ans  of 1. India and Sri Lanka
#< 2. Malay Peninsula and Indonesian island of Sumatra
/< 3. Africa and Europe
< 4 North America and South America
Question ID : 94891110326
Option 1 ID : 94891141303
Option 2 ID : 94891141301
Option 3 ID : 94891141302
Option 4 ID : 94891141304
Status : Answered
Chosen Option : 1
Q.36 1India’s first synthetic drug was developed by Council of Scientific and Industrial Research (CSIR) .
Ans X 1. Ergoapiol
« 2. Methaqualone
< 3. Norodin
/& 4 Laudanum
Question ID : 94891110343
Option 1 ID : 94891141372
Option 2 ID : 94891141370
Option 3 ID : 94891141371
Option 4 ID : 94891141369
Status : Marked For Review

Chosen Option :

2

Q.37 On whose death, Jawaharlal Nehru said “The light went away from our lives™?

Ans

X 1. Sardar Vallabhbhai Patel
< 2. Rabindranath Tagore

75 3. subhash Chandra Bose
+ 4 Mahatma Gandhi

Question ID :

Option 1 ID

94891110321

: 94891141282
Option 2D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

94891141284
94891141283
94891141281
Answered

3




Q.38 Select the option that is related to the third term in the same way as the second term is related to the first term.
Microscope : Telescope :: Magnifying Glass : 7
Ans X 1. Kaleidoscope
+ 2. Binoculars
/< 3. Projector
X 4. Camera

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110803
94891143210
94891143212
94891143209
94891143211
Marked For Review
1

Q.39 Among the following rivers, which is a good example of a superimposed drainage system?
Ans o 1. Subarnarekha
/< 2. Brahmaputra

X 3. Gomti

/< 4. Ganga
Question ID : 94891110323
Option 1 1D : 94891141291
Option 2 ID : 94891141292
Option 3 ID : 94891141290
Option 4 ID : 94891141289

Status : Marked For Review
Chosen Option : 3
Q40 The border is the world’s fifth largest border.
Ans o 1. India-Bangladesh

X 2. India-Bhutan

< 3. India-Myanmar

#< 4. India-Nepal
Question ID : 94891110325
Option 1 1D : 94891141297
Option 2 ID : 94891141298
Option 3 ID : 94891141299
Option 4 ID : 94891141300

Status : Marked For Review
Chosen Option : 1




Q.41

Ans

Who was the president of Indian National Congress in 19077

X 1. Womesh Chandra Bannerjee
/< 2. Dadabhai Naoroji

+ 3. Rashbihari Ghosh
/X 4. Lala Lajpat Rai

Question ID :

Option 1 ID

Option 2D :

Option 3 ID

94891110317
: 94891141266
94891141267

: 94891141265
Option 4 ID :
Status :

Chosen Option :

94891141268

2

Ans

X136
W2 34
X 3 38
X4 32

Q42 A5 per UNESCO, Ellora caves are group of how many caves?

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

94891110310
94891141239
94891141238
94891141240
94891141237

Marked For Review

1

Ans

display?

X 1. Calcium

X 2 Gold

+ 3 Barium
< 4 Sodium

Q.43 Fireworks get their colour from metal salts. Which of the following metal salts produces green coloured firework

Question ID :
Option 1 ID :
Option 21D :
Option 31D :
Option 4 ID :

Status :

94891110311
94891141243
94891141244
94891141241
94891141242

Marked For Review
Chosen Option : 1

Marked For Review




Q.44 If‘— means ‘division’, *+" means ‘subtraction’, **’ means “addition’ and *+* means ‘multiplication’, then find the value

Ans

of I5+32%x4+8-2.

Y S
5 2
5 3
X4 15

—_—

]
plid

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110798
94891143189
94891143190
94891143191
94891143192
Answered

1

Q45 A5 of December 2020 who is the governor of Sikkim?

Ans 1. Shriniwas Dadasaheb Patil
+ 2. Ganga Prasad

/< 3 VP Singh Badnore

< 4. Banwarilal Purohit

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

94891110305
94891141217
94891141218
94891141220
94891141219
Answered

2

Q.46 Find the least number which when divided by 20, 25, 35 and 40 leaves remainders 15, 20, 30 and 35

respectively.
Ans X 1.°7265
X 2. 1240
W 5 1395
X 4 1860

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

94891110150
94891140598
94891140597
94891140600
94891140599
Answered

3




Q47 Which of the following was Asia’s first nuclear reactor?

Ans X 1. ZERLINA
X 2. CIRUS
X 3. Dhruva
o 4. Apsara

Question ID : 94891110342
Option 1 ID : 94891141365
Option 2 ID : 94891141367
Option 3 ID : 94891141368
Option 4 ID : 94891141366
Status : Marked For Review
Chosen Option : 4

Q48 What is the traditional classical dance of Assam?
Ans o 1. Sattriva Nritya

X 2 Bihu

X 3. Kathak

X 4. Chhau

Question ID : 94891110309
Option 1 ID : 94891141233
Option 2 ID : 94891141235
Option 3 ID : 94891141236
Option 4 ID : 94891141234
Status : Marked For Review
Chosen Option : 1

Q.49 A5 of December 2020, who is the Chairman of the Insurance Regulatory and Development
Anuthority of India (IRDA)?

Ans o 1. Shubhash Chandra Khuntia
/< 2. Pratibha Singh

/< 3.V § Narendra Chandra
< 4. G R Surya Kumar

Question ID : 94891110304
Option 1 ID : 94891141213
Option 2 ID : 94891141216
Option 3 ID : 94891141215
Option 4 ID : 94891141214
Status : Marked For Review
Chosen Option : 3




Q50 Find HCF of 10.8, 28.8 and 36.

Ans x 1. 28
X2 36
X3 28
W36
Question ID : 94891110145
Option 1 ID : 94891140577
Option 2 ID : 94891140580
Option 3 ID : 94891140578
Option 4 ID : 94891140579
Status : Answered
Chosen Option : 4
Q.51 Select the number that can replace the question mark (?) in the following series.
4, 10,22, 40, 64,7
Ans “ 1. 94
X2 8
X 3 80
X 4. 90
Question ID : 94891110784
Option 1 ID : 94891143133
Option 2 ID : 94891143135
Option 3 ID : 94891143134
Option 4 ID : 94891143136
Status : Answered
Chosen Option : 1
@52 Which of the following does not belong to short-lived climate pollutants?
Ans  of 1. Ammonia
X 2. Methane
X 3. Black carbon
#< 4. Hydroflurocarbons
Question ID : 94891110335
Option 1 ID : 94891141340
Option 2 ID : 94891141338
Option 3 ID : 94891141337
Option 4 ID : 94891141339
Status : Marked For Review

Chosen Option :

2




Q.53 TIf the variance of 5 values is 0.64, then what will be its standard deviation?

Ans X132
X 2 5.64
V3 08
X 4 0.128
Question ID : 94891110168
Option 1 ID : 94891140670
Option 2 ID : 94891140672
Option 3 ID : 94891140669
Option 4 ID : 94891140671
Status : Answered
Chosen Option : 3
Q4 (54.542% — 45.458%)
The value of 4
{(61.738 —52.654)
Ans X' 1. 35.084
X 2 67.542
'3 100
X 4. 32.458
Question ID : 94891110151
Option 1 ID : 94891140604
Option 2 ID : 94891140601
Option 3 ID : 94891140603
Option 4 ID : 94891140602
Status : Answered
Chosen Option : 3
Q.55 The profit earned by selling an article for 832 is equal to the loss incurred when the article is sold for
7448. What should be the selling price of the article for making 50% profit?
Ans 5 1. %1230
W 2 7960
X 33900
X 4 3826
Question ID : 94891110157
Option 1 ID : 94891140627
Option 2 ID : 94891140625
Option 3 ID : 94891140626
Option 4 ID : 94891140628
Status : Marked For Review

Chosen Option : 1




Q.56 Out of the four words listed, three are alike in some manner and one is different. Select the odd one.

Ans x 1. Rain
< 2. Thunder
\,3- Monsoon

# 4 Lightning

Question ID : 94891110795
Option 1 ID : 94891143177
Option 2 ID : 94891143179
Option 3 ID : 94891143180
Option 4 ID : 94891143178
Status : Marked For Review
Chosen Option : 1

Q.57 A sum of money doubled itself at compound interest in 15 years. In how many years will it become eight times?

Ans x1_ 75
X 2 60
X 3 30
W 4 45

Question ID : 94891110159
Option 1 ID : 94891140635
Option 2 ID : 94891140634
Option 3 ID : 94891140633
Option 4 ID : 94891140636
Status : Marked For Review
Chosen Option : 4

Q.58 1 which of the following districts is the Dul Hasti Power Station situated?
Ans X 1. Poonch

/< 2. Anantnag

v 3. Kishtwar

< 4 Donda

Question ID : 94891110324
Option 1 ID : 94891141293
Option 2 ID : 94891141296
Option 3 ID : 94891141294
Option 4 ID : 94891141295
Status : Marked For Review
Chosen Option : 2




Q.59 The cost price of a commodity with selling price 40.60 and gain 16% is:

Ans X 1.347
W 2 335
X3 322
X 4. 240
Question ID : 94891110155
Option 1 ID : 94891140618
Option 2 ID : 94891140620
Option 3 ID : 94891140617
Option 4 ID : 94891140619
Status : Answered
Chosen Option : 2
Q.60 Ina certain code language. PITA and FIST are written as NFPV and DFOO respectively. How will TURK be written as
in that language?
Ans X 1. RPLE
+ 2. RRNF
X 3. RSNF
X 4 REKL
Question ID : 94891110779
Option 1 ID : 94891143113
Option 2 ID : 94891143114
Option 3 ID : 94891143115
Option 4 ID : 94891143116
Status : Answered
Chosen Option : 2
Q61 What is Linux?
Ans X 1. Software
« 2. Operating System
< 3. App
X 4 Hardware
Question ID : 94891110338
Option 1 ID : 94891141351
Option 2 ID : 94891141349
Option 3 ID : 94891141350
Option 4 ID : 94891141352
Status : Answered
Chosen Option : 2




Q.62 Which one of the following articles of Indian Constitution deals with the tenure of the President?

Ans X 1. Article 55
o 2. Article 56
X 3. Article 53
X 4 Article 54
Question ID : 94891110328
Option 1 ID : 94891141309
Option 2 ID : 94891141310
Option 3 ID : 94891141311
Option 4 ID : 94891141312
Status : Marked For Review
Chosen Option : 2
Q.63 India’s first manned space mission have been targeted to launch by Indian Space Research Organisation (ISRO) in the
year .
Ans
X 12024
W 2 2022
X 3. 2027
X 4. 2025
Question ID : 94891110332
Option 1 ID : 94891141325
Option 2 ID : 94891141326
Option 3 ID : 94891141328
Option 4 ID : 94891141327
Status : Marked For Review
Chosen Option : 4
Q64 Article 280 of the Constitution of India deals with
Ans X 1. Education
' 2. Finance Commission
75 3. Privacy
/< 4 Equality
Question ID : 94891110327
Option 1 ID : 94891141308
Option 2 ID : 94891141305
Option 3 ID : 94891141307
Option 4 ID : 94891141306
Status : Marked For Review
Chosen Option : 2




Q85 Acid rains occur when the atmosphere is heavily polluted with:

Ans

« 1. 502 and N02
X 2. CO and CO,
X 3. NH; and SO3
75 4. smoke particles

Question ID :

Option 1 ID

Option 2D :

Option 3 ID

Option 4 ID :

Status

94891110334
: 94891141333
94891141336
: 94891141335
94891141334

: Answered
Chosen Option :

1

Q.66 Which ministry controls the *Saubhagya Yojana’ launched by the Central Government in 20177

Ans

< 1. Ministry of Agriculture & Farmers’ Welfare
#< 2. Ministry of Petroleum & Natural Gas

« 3 Ministry of Power

< 4. Ministry of Finance

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

94891110341
94891141364
94891141362
94891141361
94891141363

Marked For Review

1

Q.67 Arun and Sekhar have certain amounts of money. If Arun gives 30 to Sekhar, then Sekhar will have

Ans

X 3 56,78
X 43472

twice the amount left with Arun. If Sekhar gives 210 to Arun, then Arun will have thrice as much as is
left with Sekhar. What amount (in Z) does each of Arun and Shekhar respectively have in the
beginning?

X 1. 34,62
2 62,34

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :

Status :

94891110152
94891140607
94891140605
94891140606
94891140608
Answered

Chosen Option : 2




Q.68 What is the smallest natural number by which 3600 must be divided to make it a prefect cube?

Ans  of 1450
< 2250
< 3. 300
< 4. 100
Question ID : 94891110148
Option 1 ID : 94891140592
Option 2 ID : 94891140590
Option 3 ID : 94891140591
Option 4 ID : 94891140589
Status : Answered
Chosen Option : 1
Q.69 A bag contains 2 red, 3 green and 2 blue balls. Two balls are drawn at random. What is the probability that none of the
balls drawn is blue?
Ans 5
F G P
7
10
J 2.
21
10
R
14
6
X4 —
21
Question ID : 94891110169
Option 1 ID : 94891140673
Option 2 ID : 94891140675
Option 3 ID : 94891140676
Option 4 ID : 94891140674
Status : Marked For Review
Chosen Option : 4
Q.70 In 2018, Piyush Goyal, Minister of Railways & Coal launched a mobile app called . The app enables commuters
to lodge complaints against Indian Railways and check real-time feedback on the status of redressal of these complaints.
Ans

X 1 Rail Yatui
< 2. Train App
< 3. Train Madad
v 4 Rail Madad

Question ID

Option 2 ID

: 94891110331
Option 11D :

94891141322

: 94891141323
Option 31D :
Option 4 ID :

Status :

Chosen Option :

94891141324
94891141321
Marked For Review
1




Q71 Who wrote the book ‘Capital and Growth’?

Ans X 1. James Marshall
X 2. AR Rodon
X 3. Adam Smith
« 4. John Hicks

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110339
94891141356
94891141353
94891141355
94891141354
Marked For Review
3

Q.72 The system of equations 2x +~ ky = 11, 5% — 7y = 5 has no solution when k =

Ans —14
v i —
5
—16
- P
5
13
R
5
—13
b S R—
5
Question ID : 94891110166
Option 1 ID : 94891140663
Option 2 ID : 94891140664
Option 3 ID : 94891140661
Option 4 ID : 94891140662
Status : Answered
Chosen Option : 1
Q.73

Ans X 1. 28 years
/< 2. 26 years
75 3. 30 vears
o 4. 32 years

The age of Alfred in 1944 was i of his birth year. What was the age in 19527

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110164
94891140653
94891140654
94891140656
94891140655
Answered

4




Q.74 The lethal war with Kalinga transformed the vengeful Emperor Ashoka to a stable and peaceful emperor and he became
a follower of

Ans  of 1. Buddhism
X 2. Tainism
X 3. Vedanta
< 4. Hinduism

Question ID

Option 2 ID

: 94891110308
Option 11D :

94891141229

: 94891141230
Option 3D :
Option 4 ID :

Status :

Chosen Option :

94891141232
94891141231
Marked For Review
2

Q75 The sum of the numbers between 17 and 520 that are divisible by 6 is:

Ans X' 1. 21912

X 2. 22446
v 3 22428
X 4. 22440
Question ID : 94891110149
Option 1 ID : 94891140596
Option 2 ID : 94891140595
Option 3 ID : 94891140594
Option 4 ID : 94891140593
Status : Answered
Chosen Option : 3
Q.76 A,B.C.D.E,F, G and H are sitting around a circular table facing towards the centre (not necessarily in the same
order). F is the neighbour of G. A sits second to the left of G. B sits third to the left of D. Only two persons sif between
Aand B. E sits second to the left of H. B is not neighbour of H. C is the neighbour of B.
What is the position of C with respect to F?
Ans 5 1. Immediate right
& 2. Second to the left
« 2 Third to the right
X 4. Immediate left
Question ID : 94891110785
Option 1 ID : 94891143139
Option 2 ID : 94891143140
Option 3 ID : 94891143138
Option 4 ID : 94891143137
Status : Marked For Review
Chosen Option : 3




Q.77
If 40 is almost equal to 6.323, then ‘E is nearly equal to:

Ans X 1. 1.625
v 2. 1.265
X 3. 0.565
X 4 2.828
Question ID : 94891110147
Option 1 ID : 94891140588
Option 2 ID : 94891140587
Option 3 ID : 94891140586
Option 4 ID : 94891140585
Status : Answered
Chosen Option : 2
Q.78 Two Men, Emmet and Ferdinand, were best friends until the daughter of Emmet’s maternal aunt’s only sibling got
married to the only child of Ferdinand’s father. How is Emmet related to Ferdinand now?
Ans X 1. Maternal Uncle
o 2. Wife’s brother
X 3. Wife’s father
X 4 Paternal Uncle
Question ID : 94891110777
Option 1 ID : 94891143105
Option 2 ID : 94891143107
Option 3 ID : 94891143108
Option 4 ID : 94891143106
Status : Marked For Review
Chosen Option : 2
Q.79 . 7 & 2 . .
The arrangement of rational numbers — ST L ascending order is:
Ans 7 5 2
v T S T
10'—-8'-3
2 5 7
- PR .
’ »
—3 —8 10
x3 5 7 2
—-8' 10'-3
& A h
¢ 4 e
x r
10 -3 -8
Question ID : 94891110146
Option 1 ID : 94891140583
Option 2 ID : 94891140581
Option 3 ID : 94891140582
Option 4 ID : 94891140584
Status : Answered
Chosen Option : 1




Q.80 Sujal is the only son of X°s mother-in-law’s husband Veer. Kashish is the wife of Sujal. Sujal has only one sister named

Winra. How is X related to Wimra?

Ans X 1. Wife
< 2. Maternal Uncle
X 3. Paternal Uncle
' 4. Husband

Question ID

: 94891110774
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :

Status :

Chosen Option :

94891143093
94891143095
94891143096
94891143094
Marked For Review
4

Q.81 A wave has a frequency of 50 Hz and a speed of 36 m/s. What is the wavelength of this wave?

Ans X' 1. 0.36m

V2 072m

X3 278m

K4 1.39m
Question ID : 94891110315
Option 1 ID : 94891141257
Option 2 ID : 94891141258
Option 3 ID : 94891141260
Option 4 ID : 94891141259

Status : Answered
Chosen Option : 2
Q82 A pixel is:
Ans o 1. the smallest resolvable part of a picture

#< 2. a picture stored in secondary memory

& 3. a programming language

/< 4. a computer program
Question ID : 94891110336
Option 1 ID : 94891141342
Option 2 ID : 94891141343
Option 3 ID : 94891141344
Option 4 ID : 94891141341

Status : Answered

Chosen Option :

1




Q.83 ‘Amir-al-Khay!l’ is an Arabic title that is usually translated ‘Commander of the Faithful’ or *Leader of the Faithful’. Who
among the following was given this designation?

ANS % 1. Malik Ikhtiar-ud-din Altunia
75 2. Muiz ud din Bahram

/< 3. Naseeruddin Mohd
« 4. Jamal-ud-Din Yaqut

Question ID :
Option 11D :
Option 2D :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

94891110318
94891141270
94891141272
94891141269
94891141271
Marked For Review
1

Q84 Splve the following.

4 5
: amey 2 1
T (15" 15) -
3 5 10 5
Ans (1 g
v 13
X3 11=
X4 15=
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :
Chosen Option :

94891110153
94891140609
94891140611
94891140610
94891140612
Answered

2




Q.85 Consider the given statement and decide which of the given assumptions is/are implicit in the statement.
Statement:
Though he is a Korean, this food is too spicy for my friend.
Assnomptions:
A: Koreans camnot eat spicy food.

B: Koreans can eat spicy food.

Ans

+ 1. Only assumption B is implicit.
2 2. Only assumption A is implicit.
/< 3. Neither A nor B is implicit.

/< 4. Both A and B are implicit.

Question ID : 94891110781
Option 1 ID : 94891143122
Option 2 ID : 94891143121
Option 3 ID : 94891143124
Option 4 ID : 94891143123
Status : Marked For Review
Chosen Option : 1

Q.86 Which of the given options is NOT similar to the following set of numbers:

23,29 and 31
Ans x1. 19

X 2 37

X343

v 27

Question ID : 94891110789
Option 1 ID : 94891143153
Option 2 ID : 94891143155
Option 3 ID : 94891143156
Option 4 ID : 94891143154
Status : Answered
Chosen Option : 4




Q.87

Read the following information carefully and answer the question that follows.
There are five friends — Param, Nikhil, Bobby, Hemu and Lalit.

Hemu is shorter than Nikhil and taller than Param.

Bobby is the tallest among the five friends.

Param is shorter than Nikhil but taller than Lalit.

Who is the second tallest?

Ans X' 1. Param
/< 2. Bobby
3. Nikhil
& 4. Hemu
Question ID : 94891110790
Option 1 ID : 94891143160
Option 2 ID : 94891143158
Option 3 ID : 94891143159
Option 4 ID : 94891143157
Status : Marked For Review
Chosen Option : 3
Q.88 Select the option that is related to the fourth term in the same way as the first term is related to the second term.
Field : Farmer :: 7 : Pilot
Ans 1. Ship
/< 2. Passenger
W 3. Aircraft
X 4. Deck
Question ID : 94891110791
Option 1 ID : 94891143161
Option 2 ID : 94891143163
Option 3 ID : 94891143164
Option 4 ID : 94891143162
Status : Answered
Chosen Option : 3
Q.89 Read the given information carefully and answer the question that follows.
Sita and Gita speak Hindi and English. Mohan and Gita speak Bengali, and Hindi. Sita, Priya and Gaurav speak English
and Malayalam.Gita and Gaurav speak Odia.
Who speaks the maximum number of languages?
Ans X 1. Gaurav
< 2. Mohan
X 3 Sita
v 4 Gita
Question ID : 94891110792
Option 1 ID : 94891143168
Option 2 ID : 94891143167
Option 3 ID : 94891143165
Option 4 ID : 94891143166
Status : Answered
Chosen Option : 1




5,10, 8, 32, 30, 180,

Q.90 Select the option that will fill in the blank and complete the given series.

Ans X 1. 60
X 2360
Vs 178
X 4 34
Question ID : 94891110783
Option 1 ID : 94891143130
Option 2 ID : 94891143132
Option 3 ID : 94891143131
Option 4 ID : 94891143129
Status : Answered
Chosen Option : 3
Q.91 In acertain code language, HAND is written as 7194 and LEG is written as 536. How will LEAD be written as in that
language?
Ans X 1. 5413
v 2 5314
X 3. 5341
X 4. 5431
Question ID : 94891110796
Option 1 ID : 94891143184
Option 2 ID : 94891143183
Option 3 ID : 94891143182
Option 4 ID : 94891143181
Status : Answered
Chosen Option : 2
Q.92 select the option that is related to the third term in the same way as the second term is related to the first term.
Alrcraft : Cabin :: Train : ?
Ans X 1. Track
/< 2. Engine
X 3. Platform
o 4 Coach
Question ID : 94891110801
Option 1 ID : 94891143202
Option 2 ID : 94891143201
Option 3 ID : 94891143204
Option 4 ID : 94891143203
Status : Answered

Chosen Option : 4




Q.93 Four numbers have been given, out of which three are alike in some manner and one is different. Select the number that

is different from the rest.

Ans X 1. 300
w2 175
K 3250
K 4150
Question ID : 94891110797
Option 1 ID : 94891143185
Option 2 ID : 94891143188
Option 3 ID : 94891143187
Option 4 ID : 94891143186
Status : Answered
Chosen Option : 2
Q.94 Read the following information carefully and answer question.
In an office, there are 200 employees. 130 employees have desktops, 100 have laptops and 60 have both laptops and
desktops.
How many employees have only laptops?
Ans X 1. 160
V2 40
< 3. 100
X 4 60
Question ID : 94891110799
Option 1 ID : 94891143196
Option 2 ID : 94891143195
Option 3 ID : 94891143193
Option 4 ID : 94891143194
Status : Marked For Review
Chosen Option : 2
Q.95 From a coffee shop, X walked 500 m towards the east, 200 m towards the south, 50 m towards the west, 50 m towards
the north, 50 m towards the west and 150 m the north. How far and in which direction is X from the coffee shop?
Ans X 1. 400 m, West
X 2. 200 m, North
75 3. 350 m, East
o 4. 400 m, East
Question ID : 94891110802
Option 1 ID : 94891143205
Option 2 ID : 94891143208
Option 3 ID : 94891143207
Option 4 ID : 94891143206
Status : Answered
Chosen Option : 2




Q.96 Select the option that is related to the third term in the same way as the second term is related to the first term.

Ans

Product : Advertisement :: Professional : ?

< 1. Name
/< 2. Contact
#< 3. Qualification

\, 4. Resume

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

94891110794
94891143174
94891143175
94891143176
94891143173
Marked For Review
2

Q.97 Read the given statements and conclusions carefully and decide which of the conclusions logically follow(s) from the

Ans

statements.

Statements:

A. Some doors are rocks.

B. Some rocks are woods.

Conclusions:

A, Some doors are woods.

B. No wood is a rock.

< 1. Only conclusion B follows.

/< 2. Either A or B follows.
o 3. Neither A nor B follows.

75 4. Only conclusion A follows.

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

94891110780
94891143118
94891143120
94891143119
94891143117
Answered

3

Q.98 Ina certain code language, ROD and VET are written as TRH and XHX respectively. How will SAP be written as in

Ans

that language?

X VMU
v 2 UDT
X 3. TKS

X 4 UCR

Question ID :
Option 11D :
Option 2D :
Option 3 ID :
Option 4 ID :

Status

94891110778
94891143111
94891143112
94891143110
94891143109

: Answered
Chosen Option :

2




Q.99 Nit is older than Sumit. Rohit is younger than Sumit. but older than Kavita. Nisha is older than Sumit but younger than
Nitu. Who is the youngest among all?

Ans  of 1. Kavita

X 2. Nisha

X 3. Sumit

X 4. Rohit
Question ID : 94891110800
Option 1 ID : 94891143200
Option 2 ID : 94891143197
Option 3 ID : 94891143198
Option 4 ID : 94891143199

Status : Answered
Chosen Option : 1
Q.100 Out of the four words listed, three are alike in some manner and one is different. Select the odd one.
Ans X 1. Bone

X 2. Tendon

X 3. Ligament

v 4 Nose
Question ID : 94891110793
Option 1 ID : 94891143172
Option 2 ID : 94891143171
Option 3 ID : 94891143169
Option 4 ID : 94891143170

Status : Answered
Chosen Option : 4
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